INSTALLATION INSTRUCTIONS
2" SIDEBAR FOR

VW CADDY 04+ SWB
PARTS LIST:
No. |Qty Part Description No.| Qty Part Description
1 2 |Left/Right Sidebar 74 2 |M8 X 40mm T-Bolt
2 2 |Bracket A 8 2 |M8 X 35mm Bolt
3 2 |Bracket B 9 8 |8mm Flat Washer
4 4 |M10x40mm Bolt 10 | 8 |8mm Spring Washer
5 4 |10mm Flat Washer 11 6 |M8 Hex Nuts
6 4 |10mm Spring Washer 12| 2 |8mm Plastic Washer

1

INSTALLATION PROCEDURE

1. Starting the installation from telling all the Right and Left brackets firstly, and put them on
according position.

2. Install the Right/Passenger Bracket A ( Fig1),find out the install hole, put the M8x40mm T-

Bolt is placed into the hole, and using M8x35mm Bolt . 8mm Flat Washers. 8mm
Spring Washers. M8 Hex Nuts and 8mm Plastic Washer , M10x40mm Bolt. 10mm Flat
Washers. 10mm Spring Washers. to tighten the Right /Passenger Front Bracket on the vehicle ,
but do not tighten hardware.

3. Install the Right/Passenger Bracket B ( Fig1),find out the install hole, put the U type bolt

(13) is placed into the hole, and using. 8mm Flat Washers. 8mm Spring Washers. M8
Hex Nuts and 8mm Plastic Washer ,M10x40mm Bolt. 10mm Flat Washers. 10mm Spring
Washers. to to tighten the Right /Passenger Rear Bracket on the vehicle , but do not tighten
hardware.

4. Check the Sidebar for level and adjust as necessary. Tighten all hardware at this time.
5. Repeat same steps 1-4for Left /Driver Bracket Sidebar installation.

To protect your investment, wax this product after installing. Regular waxing is recommended to
add a protective layer over the finish. Do not use any type of polish or wax that may contain
abrasives that could damage the finish.

For stainless steel: Aluminum polish may be used to polish small scratches and scuffs on the
finish. Mild soap may be used also to clean the Sidebar.

For gloss black finishes: Mild soap may be used to clean Sidebar.




Eigum i

Front of Vehicle

Passenger Side Installation Pictured




